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Circular Motion
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Example

Roller craters have Vatical loops ,
the radius of cuveue is smaller at the

-

top the the sides - Why ?
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Example

Wha is the speech of a roller contr o

the top o a loap if the radius of curvace

there is /5.0 & the downward

accendia of the car is 1. 50g ?

Solic
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I ac = 1 . 5y

ach y => car is a track
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Example
A child o mass 40 by is in a

roller conte car tha travels in a loop

f radius 7.00 m . At point A the

speed of the car is 10. 0 ers
,
& is

pott is the speec is 10 . 5 Mrs
.

Assume the chold is is holding a

and does it wem a sat belt.

cal Wha is the force of the cur

sea o the child i pai A ?

33) Wha is the face of the car

sat on
the child o point is ?

sa who minimum speed is required
to kee the child in his seat & Pr A ?
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Solvian
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(b) &B = 10 . 5 >
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(C) Minimum speed & pol A Y

Wris is such the child just
-

touches the sat> No norma force
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Example
If a car takes a banked care

8

less than ideal speed , friction is needed

to weep it from sliding toward the inside

of the curve
.

cas Calde the ideal speed to take

a 100
.
0 m radius curre bunked

& 15%

363 Whi is the minimum cofficien of

frition needed for a drive

taking the same came & 20
.
0 narn ?
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FBD Car
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(b) Now
,
for very

low speed car
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NSD - Ncosc = mu (1)

E

NCusO +uNsinO= Mg (2)
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Example

Grains from a hopper falls of a re

of 104/s vetically anto
a conveyer

belt

tha is moving hurzatally
I a candid

speed & Ims
.

cal who is the force needed to keep

the conveyer bed moving
o the

Lac rocity ?
361 Who is the minum power

of the

motor driving the conveyer
bet ?

solution
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Ren, stand introduce concer of more

to fully underdal/apprecise this problem ·
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(b)

Power P = F .r

=de yu
It

=> P= 40W



Example
A small block of mass 2009 stats &

rest at A
,
slides to B where its speed

is W
i
= 8.0 Mrs

,
the slides along the

harzan surface a disance 10m before

coring to not at C
.

cas who is the work of fritin clang
the arrach surface ?

13) Who is the confect of kindic

fretice dog the huiza surface ?
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sation

2 Work o fridion a curred surface
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